plusNat (S (S 2)) (S (S (§ 2))) == S (S (S (S (S D))
minusNat (S (S 2)) (S (S (S 2))) == 2

timesNat (S (S 2)) S (S G 2D)) =S EECECEEDZYYDY
divNat (S (S 2)) (S (S (58 2))) ==2

modNat (S (S 2)) (S (S (S 2))) == S (5 2)

egNat (S (S 2)) (S (S (S 2))) == False

grNat (S (S 2)) (S (5 (S 2))) == False

leNat (S (S 2)) (S (S (S 2))) == True

grEgNat (S (S 2)) (S (5 (S 2))) == False

leEgNat (S (S 2)) (S (S (S 2))) == True

mkCan (S (S 2),S (S (S 2))) == (Z,S 2)
plusNP (S Z,S (S (S 2))) (S (S (S (S 2))).S 2) == (S Z,2)

minusNP (S Z,S (S (S 2))) (S (S (S (S 2))).S 2) == (Z,S (S (S (S (S D)
timesNP (S Z,S (S (S 2))) S (S (S (2))).S2) =(Z,S S (S ECECECINNN
divNP (S Z,S (S (S 2))) (S (S (S (S 2))).S 2) == (Z.S 2)

modNP (S Z,S (S (S 2))) (S (S (S (S 2))).S 2) == (S Z,2)

egNP (S Z,S (S (S 2))) (S (S (S (S 2))),S Z) == False

grNP (S Z,S (S (S 2))) (S (S (S (S 2))).S Z) == False

IeNP (S Z,S (S (S 2))) (S (S (S (S 2))).S Z) == True

grEgNP (S Z,S (S (S 2))) (S (S (S (S 2))),S Z) == False

IeEGNP (S Z.S (S (S 2))) (S (S (S (S 2))).S Z) == True



